
Notes

29/9/2020



slide 14 0 ①

sap ! EE de = KII !
,

°

I
= th f T da

- h

→ gcph DIF = One = x (Ta -F)d

4 = 56 Wnek
d I

→

Tae
- Fh (ta - T )

"

g n iotodays
→ Eat = g. (Fa - T )



slide 21 ②

of smooth it
f. (Wztdwt ) - ffwt ) =

f
'

awt + If"Hf) @wtf . -
ohs : IoT of

'

@t ) dwzt
T

to

+ Eff
"

# at
O H

Ks : fat) - Iwo )

-9ft) e-
E f

'
est f

"

-z

→ ft - wtdwtttzfqyt
= WE - us?

O



slide 23pct
,

× ) ←

ett X ③

f , = jetty
fz e
et fzz e- O

⑨
→

ettxz - x. = §fe t
+ et#s)) as t
+ ft ets T dws
Xt = e-ttfxotrfets.ws)



slide 28 ④
O = ( fxp)

"

t II p"

I p' t yxp ¥. od,
p
'
=
- 28¥ p

Pek ) - c e
- t¥



slide 29 ⑤
E f Xt#If =

E f ( xo.e-tttoe.tt ! ett' awe ) *
* (x
. .es#s7+reo.l*ssfttser.t'

"

aw

E f dwt] = 0

= ×? e-tftts) + f e-tfztts) *

Eel ! aw.. ere"I¥I¥¥H
dwt' = 5ft' ) at

'

dhoti = $ Lt
") at

"

El SH') SH
" ) ] soft

⇐ = ft eat
'
at ' ='z(e*



Elzttxtts] = sso ⑥

e
#Getts)To
⇒
t d

+ ge-tkttsztpfe.tt - i )
t ⇒ A

Elttxts] → I e-
ts

28

Spectrum i

SH - If EM
= .EE#e--o.Ee



Sio) =
I ⑦

=

Et y
'

%¥¥
us> 8

SH E 0%>
Lorentzian



.

- ex. + rest;jw?
*Ktn

.

=
e-ttnxotoettuftetsdwg

* e-tent,
- ta )
# Ktm

,

= Anti

→ Xm, -
Est xn =

tot
g e-8th f et

'

awe
-

th "
G dwntl

#→ Xpt , E X Xn It F-nay
1-

tea noise

ARM )



dtt =a(at t
⑤

dwt

blt ) : addition noise

blxt) : state - dep.

noise

multiplicative


